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However you may see 77211 of others or of the Most High

OVERVIEW

The Rn>12 teaches that we derive from the word 75 (in the 'D05 of ynn T2 I8 X»
"21) that (only yni that belongs to a 98w is forbidden, however) concerning yim
which belongs to others (referring to a 2"133) or to WIpn, there is no MoK of >"21°"2.
Our NN discusses whether we can derive the exclusion of the two (721 and
w7pn) from one VY of 0.

L 4
mooIn asks:
— 11933 993 SVIYNAY NP SN TAINN KY KINT WI7HHNNT APy %29 290 Avpn
The w'" 195787 "' has a difficulty; here the Xn>>12 does not require two 2°p10

to exclude 121 and w7P:7 from the 70X of >"21 "2 -
— 3115591 1301 75 TN

For we exclude them both from one 4'[5.

nMoOIN anticipates a question on this presumption that both »331 and ™23 are excluded from one 77:
— 55250759 79 XNOYNT 22 Y 9N

Even though that the word 7% is written three times in the 7n; it is therefore
possible that 351 and max are excluded from two different words of 77.

moon dismisses this argument:
— Y1919 9999841 $1UN (x99 NYY 93 (P93

For in myw %> pap it is evident that all three words of 7% are necessary for various
mwa7. Only one 72 is used there to exclude »153 and wpn. It is therefore assumed that one 09 is

2 (%2) nw.

* See *o% "7 >"w. See “Thinking it over’.

? The xn™12 mentions both exclusions in one phrase; Ma3 YW1 D™ IAK YW QX1 7K 22K 7817 ANK °X 72w, indicating that
they are both excluded from the same single word T>.

* The reason we can have two D0 from one 109 is that the word 7> means ‘yours’. The o°X of *"21*"2 is only if
the ynn belongs to you; otherwise, if it does not belong to you, whether it belongs to a *121 or to w7pn (or to
whomever; see ‘Thinking it over’) there is no 21’1 of *"21°"2. It is really one T°>.

> In 1,3 (X2) Mnw it states "2 MKW T2 787’ PAR T2 8 &9 and in 7,70 (787) 0127 it states 32 IRY 77 KT XD
a1 912,

® The w"w" amends this to 'P192' (not p52").

" The other two come teach us that the exclusion of *131 is even by a 1nw2°w »131 and that >"21 >"2 applies to both ynn
and MRw. ¥y,
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sufficient to exclude both 121 and w7pn; two 2’105 are not required.

mooIn continues with the question
— %9509 099MOY ¥ MNP (0w §,10 97 INYNIY? 539 D992 NN

And in mmn noon in YRYRwS 31 pap the X states that the word as niesy

(your dough) is written twice concerning the my» of 771
— WP S0IWNY 1Y 5993 SVIYNRY 1N

One 0>°mo™y excludes the dough of a v121 from 791 211 and one excludes w7p:
dough from 71711 21’11 (for they are not considered ‘your dough’). It is evident from that X n3 that
121 and w7pn each require their own v¥°». Why is it that here by ynn we exclude both w7pm »21
with only one vwn?!’

mooIn responds:
— 09391 NOOY NYUS YWITPD DIMDY 519 1N D) 0YPM91 09902 Y9

However in the more precise texts the reading is (not >wn> 7mM >121 *VIWAY TN
WP, but rather) ‘one 02°Mo™y teaches that the 7%n 2vn is if the dough is the

amount of your dough; meaning the amount of the dough in the dessert’. There

is a 21 of 11917 only if the dough is of a sufficient quantity. The X713 there continues -
— V1PN NDOUIYY M)

‘and one 02°mo>7y excludes a wpnt dough from 7on 2vn.!!
$D2NVIY 72 DIV IIYN 1YY (3,n5p poin) TIN HPYNIILT ANII 199

And this text appears to be the correct one, for in 137 nWR" P79 the X713 derives
from the word 25°ne>9y that in order for dough to be 2nn in 7771 it must be 572

Q2Nn0% the size of the dough that was in the 727n. Therefore there is only one 2>’mo™y
remaining to exclude both w7pm »731.

SUMMARY
We can exclude >121 and w777 with one ©1v°» whether in relation to "21°"2 70°R or
concerning the 21 of 7717 nwAo:.

THINKING IT OVER
mMooIN compares Y117 to 11721, What is the ruling concerning 13%r/y%n that belongs to

8 x5 0 (M2w) 12712, In 2 P09 it says a1 oMoy NPwR and in X3 P09 it states "3 D3°MOY NWRIA.

? See the end of the following oywn 1"7 nvOIN (footnote # 16) for an answer (according to this X07%).

' This is referring to the portion of 12 which was an (12,70 [Mwa] nmw) 79°XA NPy, [An 79°K7 nwy is slightly
more that 43 0°¥°2 (roughly 5 pounds). Others point out that 7"%1 is X V1732 43.]

t Presumably this 113" of WP No*y also includes >7121 NO°Y (as in our X7M3). Our texts there read >75 23°MoW TN
WIPa noYy X291 0°2072 72 NOVY K91 02°NI0MY TN 23N,
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0> X who are 58w°? Is there an 70°X of "1 °"2?'% Is there a 791 2117

2 See footnote # 4. See 30 "0 710 71X NAXw, cited by many commentaries including the 121 9Xvaw 927 ,0"nn.
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